ENEE 646: Digital Computer Design — Midterm Exam

i. COMPUTER OPERATION. Transistors make up logic gates that execute a computer program, and a
program is the physical realization of an algorithm or concept. Project | filled in the gap between the two
extremes: it dealt with the translation from human-readable code (i.e., an algorithm) to machine-readable code
and the translation from machine-readable code to execution of that code.

So explain the process: how do you get from human-readable code (given that assembly code is at least vaguely
human-readable) to something a computer understands, and how does that machine-specific version of the
algorithm get executed? In short, how does a computer system work!?
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3. What are CACHES for? How are they implemented? What are some of their performance characteristics
(i.e., what happens if you change the cache size, associativity, or block size)?
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